AP & A A

BN SBBSH
M. NASHPE(BHH /B EE S ULt
S S e (&2 ML)
2N - F2 - H2A(ZH) - HI2AY - HES 0ff Ao J| &M Hns2
EHASSH 37,099,648 37,340,491 240,843
= 8,892,136 8,786,096 106,040
p 247,306 247,306 0
[ 4,230,122 4,235,914 A5,792
Al 23,730,084 24,071,175 A341,091
XISt AP N (& /s H 25 UL 1,460,313 1,473,147 N12,834
= 185,000 185,000 0
] 6,000 6,000 0
[ 419,320 419,320 0
Al 849,993 862,827 A12,834
X2t 2| 704,953 709,587 A4,634
] 6,000 6,000 0
[= 301,800 301,800 0
Al 397,153 401,787 4,634
RSACT A ZN 80,605 84,767 A4, 162
101 Q1244 3,411 4,397 986
04 JIIHHI2Z2XIEE 2 3,411 4,397 986
SAES U MEIZRA 22| QI (E SHRIOH
Ab2t4) 3 3,410,610 3,411 4,397 1986
201 LBt HH| 2,012 3,160 1,148
01 At22telH 2,012 3,160 1,148
O ZBNNIAKS| 3|9 EALCH(2RM A2}
3 02 0 980 980
OORIICI2! 2% 9|3l 319 &AL (0AR)
AA 1,512,000 1,512 1,680 A168
206 24| 1,322 1,350 A28
01 ZH2H] 1,322 1,350 A28
OMEIZ 22l S22 L HNAE P (E s Xl
AF24H) 1,322 1,350 A28
—&ET Y AR 2A 721,320 722 750 A28
401 Al&HIL 2 0HYI 0 2,000 22,000
01 Al&H] 0 2,000 22,000
OOMES B354 STBL (0SS, &4H)
(229 A2 a3 02 0 2,000 A2,000
ZIStASAL 12,348 12,820 NAT2
201 LEH2HH] 1,800 2,000 A200
03 SHAFR2EH] 1,800 2,000 A200
OO & JIgAl SHAHOIAEZ)
Z3A 1,800,000 1,800 2,000 A200
301 YEEAZ 2,448 2,720 N2T2
09 SHAIAHIXIRZ2 2,448 2,720 N2T2
OXIZoIH218AF ZAXF OIHI(Ofl AR )
Z3A 648,000 648 720 AT2




BN BABSY
M. NASHPE(BHH /B EE S ULt
et (Sr9): 1)
A - M SA(SH) - MEAIY - BES 04| AroH J| &M Hns2
O MSIAEHSHA O AR )
2 1,800,000 1,800 2,000 2200
OHMsAIZE B 755,360 763,560 28,200
= 185,000 185,000 0
[ 117,520 117,520 0
Al 452,840 461,040 28,200
OMSAIZ 22| 143,960 152,160 28,200
201 LEH2 A 28,460 31,060 A2,600
01 At22t2IH] 17,900 20,500 A2,600
OKHOFMSE ILE| 201 TA| MEH(OIAEZ)
aF 0= 0 2,000 22,000
OOMSAIZ H2I(ASF, JtAlEH S) &Y UXt2
(mlﬁé*?;) & 17,400,000 17,400 18,000 AB00
307 20| A 0 5,600 25,600
02 DIZIHAIAIA 2 X 0 5,600 5,600
OOMES XSS XM (EXS 80%)
(22H AL AN 0 0 5,600 25,600
(Z)OMSAIZSES 193,400 193,400 0
[ 28,020 28,020 0
Al 165,380 165,380 0
101 Q1244 60,000 20,000 40,000
[= 18,000 6,000 12,000
Al 42,000 14,000 28,000
04 JIHHI22XEE S 60,000 20,000 40,000
OHAHI™ZI E JIZHRIZ22A 12 (H=2HH:
“MEE@lHl”OﬂM) 40,000,000 * 14l 40,000 0 40,000
[= 12,000 0 12,000
Al 28,000 0 28,000
201 LB Y] 8,900 48,900 240,000
[= 2,670 14,670 212,000
Al 6,230 34,230 228,000
01 At22t2IH] 500 40,500 240,000
OKMHOFMSSES AKX CIBI(USIHE "I 2HA
22NSEL"2) AF 0= 0 40,000 240,000
[~ 0 12,000 212,000
Al 0 28,000 28,000
OIS (8 /THDI) 13,030,303 13,079,623 49,320
= 7,293,386 7,187,346 106,040
b 241,306 241,306 0
[ 1,813,992 1,819,784 N5, 792
Al 3,681,619 3,831,187 149,568
ol ea3=x4 13,007,959 13,057,159 49,200
= 7,293,386 7,187,346 106,040
pJ 241,306 241,306 0
< 1,813,992 1,819,784 N5, 792
Al 3,659,275 3,808,723 149,448




SN S22

A (fo|egze|(sHd/Ul)

Sl 0P| sd3x4 CERE)
A - M SA(SH) - MEAIY - BES 0ff Ao J| &M Hns2
gz 171,774 198,374 226,600

201 LBt Y| 151,624 174,624 223,000
01 At22t2IH] 39,280 62,280 A23,000
OZIHI 243 &8 42 (TBTH A
Z3A 12,000,000 12,000 30,000 18,000
OUPILEEA U (22 A2
4 02 0 5,000 25,000
207 AN 19,900 23,500 3,600
01 ARE2AH] 19,900 23,500 13,600
O3ISt2E oINS 48 A (FHTY A)
ZA 19,900,000 19,900 23,500 23,600
(2)2SHBLXSH A (EIIEHIXH 2,333,400 3,440,000 A 1,108,600
= 1,400,040 2,064,000 663,960
[ 280,008 412,800 A132,792
Al 653,352 963,200 309,848
301 LEEHZ 2,333,400 3,440,000 A 1,108,600
= 1,400,040 2,064,000 2\B63,960
[ 280,008 412,800 A132,792
Al 653,352 963,200 A309,848
12 JIEIB A2 2,333,400 3,440,000 A 1,108,600
O2HAXAHHE M2 AL (ZI1H X}
23X 2,333,400,000 2,333,400 3,440,000 A 1,108,600
= 1,400,040 2,064,000 2\B63,960
[= 280,008 412,800 132,792
Al 653,352 963,200 A309,848
(D) XSX ROHXIL 6,968,000 5,884,000 1,084,000
= 4,252,000 3,482,000 770,000
[ 1,089,200 962,200 127,000
Al 1,626,800 1,439,800 187,000
402 DIZERE0| ™ 6,968,000 5,884,000 1,084,000
= 4,252,000 3,482,000 770,000
= 1,089,200 962,200 127,000
Al 1,626,800 1,439,800 187,000
02 SIZEH=2 AL B R (01X THLR) 6,968,000 5,884,000 1,084,000
QEIIXSAE 20 XN (FELEH AIE)
A 6,968,000,000 6,968,000 5,884,000 1,084,000
= 4,252,000 3,482,000 770,000
< 1,089,200 962,200 127,000
Al 1,626,800 1,439,800 187,000
SRS 22,344 22,464 A120
SIANNHEEZ 2nHEI4 22,344 22,464 A120
201 LBt | 22,344 22,464 A120
01 AFR2t2IH] 1,080 1,200 A120
Ot EeE=2 &5 340 2 oHYE MIE
(ollaHE2Y) ZX 1,080,000 1,080 1,200 A120




2 SABLS
. HDISLSH(EF/HOIS)
S HIISOIPAIE 2 (ctel-=g)
2N - F2 - H2A(ZH) - HI2AY - HES 04| AroH J| &M Hlus2
HI S22 (2E/HDI2) 13,054,263 13,237,873 183,610
= 110,750 110,750 0
= 99,840 99,840 0
Al 12,843,673 13,027,283 183,610
HOISDI8AIE 22l 61,300 70,675 29,375
AEFXE2H 61,300 69,835 N\8,535
201 L8H23H| 39,509 46,144 16,635
01 AtR2t2lt| 29,717 36,352 6,635
OSII0He & &2l 16,793 21,992 25,199
—ZESXCIAE ZH2(0AEZ)
d3& 900,000 900 1,000 A100
—ZEL AL FEAAH(TISEH A2
33 980,000 980 2,200 N1,220
—XIots ZAE (TSR At2t)
33 3,752,000 3,752 5,280 N1,528
— X=Xl =E2AHUAEZY)
33 316,800& 317 352 N35
—FH EAQAT AAHUIAEZ)
33 3,960,000 3,960 4,400 AN440
— S OHZIDEA ZIAH(BIS RO Ak2Y)
33 584,000 584 1,760 N1,176
—OHEE HIIZAHUIAEZY)
33 6,300,000& 6,300 7,000 A700
O OIS, &4 HEE 22I(HIRA) 12,474 13,860 N1,386
—EES A5 LA UREZY)
33 1,485,000 1,485 1,650 165
— XI5t AR (0lAHE )
338 1,485,000 1,485 1,650 165
—H EAQAT AAHHAEZ)
438 5,940,000 5,940 6,600 660
— S OHEIDEA 2PAHOIAFEZE)
33 3,564,000 3,564 3,960 396
OHIIE SEAAM =2 (0AHER)
33 450,000 450 500 B0
207 AT 17,100 19,000 21,900
01 49| 17,100 19,000 A1,900
OAIEZZ M| HEHE FHEAASE TAIEY
(DS RroH AFZE) &3&817,100,000& 17,100 19,000 21,900
DHE &2 JulIAIE 0 840 N840
201 LBt23H| 0 840 2840
01 Ar22t2ldl 0 840 N840
OJISSSAo2ds &4 LEH(S2H A2
38 03 0 840 N840
M2l Xel 12,882,794 13,057,029 N174,235
= 110,750 110,750 0
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SN BHESD
Zal: HOISAS(H/HIIS)
ol M| He (Sr9l: @
S - T S2(3) - HIRAIY - BAS 0 et plE<El HlRE2
= 99,840 99,840 0
Al 12,672,204 12,846,439 ~174,235
HEESTAY 624,897 748,200 £123,303
201 Yer2y| 53,280 59,200 ~5,920
01 AF= 2l 53,280 59,200 5,920
ONEzgolL JlE U WSS &40 RIE
(CIE-ED) A 2,700,002 2,700 3,000 2300
OYSIBE HY E2 HE(04E)
27 900,0002! 90 1,000 A100
OMBEE Z2HE S22 HZ(0IAEY)
A3 9,000,002 9,000 10,000 £1,000
OMZEES DAY SYSE 2(IAHEY)
A3 27,000,008 27,000 30,000 £3,000
OO0l MaD]| BHES3H HO S (0I4HE)
AT 3,420,009 3,420 3,800 £380
OUIEAD| DA 28 DI HEH(CIAZ)
A7 8,860,000%! 8,850 10,000 A1,140
308 RXISHHISOIH 413,617 531,000 A117,383
FBIEEES 413,617 531,000 A117,383
OHIISHERLB (BT A2
A% 413,616, 1702 413,617 531,000 A117,383
NEBIEEES]IEES 206,637 219,037 A12,400
201 Er2Y| 15,600 22,720 AT, 120
01 AF= 22l 13,080 20,200 A7, 120
OMYIIZHEIIDR S22 HH(0IAEY)
A 2,000,009 2,000 3,000 A1,000
OMYIIZYSIIDE JDB HIZ(0ILE)
23 6,500,002 6,500 10,000 £3,500
OMHDIZYSIIDE B4 RIZH(04E)
A3 3,500,008 3,500 6,000 £2,500
OMHDIZBSI| St Toj= Dol(04E)
27 1,080,002 1,080 1,200 A120
405 RHeHESH| 47,520 52,800 5,280
01 RIS EF S| 47,520 52,800 5,280
OMYIIZHEI| S5 0S4 Jfet 7L
(oarm2 A 47,520,002 47,520 52,800 5,280
AT 2l 223,574 210,074 3,500
201 Yty 186,894 161,394 25,500
01 Al 2l 1,620 1,800 A180
OBYRN 22T O 7L (04E)
A% 810,002 810 90 A0
OYRN 22T Hei= 2 (0AEY)
A% 810,002 810 900 A0
02 22| 185,274 159,59 25,680




BN BABSY
Mz HoISZE(SH/HDIS)
Chelr Mol Hel (&2 ML)
2N - F2 - H2A(ZH) - HI2AY - HES 0ff Ao J| &M Hns2
OFAX E XM 185,274 159,594 25,680
—HAXY XU L APEH| S
ZE 380,000 * 1704 * 122 77,520 51,840 25,680
405 KHAHE SH 0 12,000 212,000
01 ML EEFSH| 0 12,000 A 12,000
OXEsY JARR|(E=H A2 a3 03 0 12,000 A12,000
MYD|EK 2 (ME Y SAS) 10,727,086 10,733,766 26,680
207 AN 31,320 35,000 23,680
01 ARE2AH] 31,320 35,000 13,680
OMEH DS =T 2 DIZIHEH & Z2ky =25
HHOHCHSY RIDIEAL 2H(ZISUEIN AP}
A 13,320,000 13,320 15,000 21,680
OHMEHDI|IE $E28 QIZHHE It 29
(RIS ErOH AL2Y Z3A 9,000,000 9,000 10,000 A1,000
OSASRHII2 REHH2IH| RIIEAL 2
(RIS ZrOH ALY 2 9,000,000 9,000 10,000 21,000
405 RHAHESH 27,000 30,000 23,000
01 ML EZFSH| 27,000 30,000 A3,000
OJIg A MEHHD|IS Bl AdE8A I
(OllarE2) A 27,000,000 27,000 30,000 23,000
MYDIEH=EE 22 455,872 448,822 7,050
201 LEH2HH] 102,072 104,022 21,950
01 AFR2telH] 17,550 19,500 21,950
OME U SAZSZ Z2H E22 M (0ARZ)
23X 2,700,000 2,700 3,000 A300
OMYDIZSSH NHEZH S22 (0IArEZ)
ZA 14,850,000 14,850 16,500 A1,650
206 24| 289,000 280,000 9,000
01 TH2H] 289,000 280,000 9,000
OMEDIZ2H H=22s M 289,000 280,000 9,000
—MEMY)| 2E HE
AE 120 * 2,125,0000H 255,000 246,000 9,000
HE2ELEBAZXS 51,800 102,500 250,700
301 YLEHZ 51,800 102,500 250,700
12 JIEIB A2 51,800 102,500 50,700
OHXIE 2 HBAS(THEH A2 51,800 102,500 250,700
—HH ZA 1202 * 350,000kg 42,000 84,000 242,000
—sosIy(R2Y) A 1502 * 4,000kg 600 1,500 A900
— S (EctAE) FA 8002 * 5,000kg 4,000 8,000 24,000
=N 23X 1,0002 * 4,000kg 4,000 7,200 23,200
—HIX A 302 * 20,000kg 600 00 A300
—Hgeld ZA 302 * 10,000kg 300 600 A300




PN B2

¥ HoISZE(&3/HoI8)

el MD| Hel (cHel:&J)
S - BB ER(SH) - NRAY - BaES 0] apot plEE SImE==
AMNSEEHIIZ Ml 149,378 151,080 A1,702
201 LEr2 2| 4,392 6,080 A1,688
01 At22teld| 4,392 6,080 21,688
OYXl-=gHIIZ2 28 8% ME(0MEY)
28 2,052,000& 2,052 2,280 A228
OYxl-=gHDIE 28 22 HE(0MEY)
23 1,800,000& 1,800 2,000 2200
OCHOISHIEAIHE HERF M= E etM3t
(GllarE2S) Z & 540,000& 540 600 AB0
OSHEHIISE! S&H| AIH(SEX A2
23 0 0 1,200 21,200
307 QI2t0| A 144,986 145,000 A4
05 BIZIREZ 144,986 145,000 A4
OYX-=YHDIE IEHMIHI(ZEHRH A2t)
2 4,985,560& 4,986 5,000 A4
QH= 22| (/40 E - =3) 4,941,330 4,976,270 234,940
= 1,303,000 1,303,000 0
= 1,896,970 1,896,970 0
Al 1,741,360 1,776,300 234,940
=&z 4,941,330 4,976,270 A34,940
= 1,303,000 1,303,000 0
= 1,896,970 1,896,970 0
Al 1,741,360 1,776,300 234,940
=FstE 22 121,328 124,110 N2, 782
201 B2 77,378 79,760 N2,382
01 At22teld| 14,850 16,500 21,650
OF3tx EA ol SA ME(o&EZ)
Z& 90,000 90 100 A10
O=E3&a 8 HYES FL(0atEZ)
23 6,750,000 6,750 7,500 AT750
O3E3&E4 22 =2 (0laE2)
A& 1,260,000 1,260 1,400 2140
Ootstiz S=3HE4A 2t 6,750 7,500 ATE0
—3E3EA 23 EEBNE(0AEZ)
Z2 & 900,000& 900 1,000 A100
—EIl 23TA HOSE(0AEZ)
Z& 1,350,000 1,350 1,500 A150
—HeE SESEA HOEE 7 (0aEZ)
Z2& 4,500,000& 4,500 5,000 A500
02 2224l 62,528 63,260 ANT32
OFSIE 22| g4 T2 RXE(0AHEY)
Z2E 3,468,000& 3,468 4,200 AT32
307 QI2to| & 878 1,278 A400
05 BIIRAEZ 878 1,278 A400




SN B#EBED
Ho: QHS 2|(B/AGEE - +R)
SE S (Sr9): 1)
A - 3 - SR(ZH) - MRANY - BES Oll &+t JIEN HwE2
O+ E=EER 25022 (00EY)
A% 878,002 878 1,278 2400
SEUBRRHDR 133,250 146,760 A13,510
101 2I21b| 3,537 33,636 A1,099
USEIEEDU=T-ES 3,537 33,636 A1,099
OAYADY] SR QIS (TR A1)
A% 733,008 733 1,832 A1,099
201 Yur2y| 12,924 13,124 2200
01 AF= 2l 1,800 2,000 A200
OYYAAD +ETHIAH0ILEY)
23 1,800,002 1,800 2,000 2200
207 AR 87,789 100,000 A12,211
01 A7 EA| 87,789 100,000 A12,211
O=HH MENSHESAAY BAS SLEZY 89
(oI&r=2) A 23,342,002 23,342 25,000 A1,658
ONE ENF UIHQYNUAIL &3 By
TAL Y OIZHE S8 SO(0AE)
AT 64,446,609 64,447 75,000 A10,553
(S)SBSAZANSA 320,000 320,000 0
= 9,000 96,000 0
Al 224,000 224,000 0
401 AlEBILSCHY| 320,000 320,000 0
= 9,000 96,000 0
Al 224,000 224,000 0
01 A&t 320,000 320,000 0
OBESHBAINEAY 320,000 320,000 0
—OHKIS BESFAHA A
23 60,000,008 60,000 100,000 £40,000
= 18,000 30,000 A12,000
Al 42,000 70,000 £28,000
—YUXSHD ¥ DEAZANMAIL
40,000,008 * 14! 40,000 0 40,000
= 2,000 0 2,000
Al 28,000 0 28,000
() MENGHE ZRAL (SHE) (R EAI) 2,600,000 2,600,000 0
< 1,690,000 1,690,000 0
Al 910,000 910,000 0
401 Al&BILSCHY| 2,600,000 2,600,000 0
= 1,690,000 1,690,000 0
Al 910,000 910,000 0
01 A&t 2,600,000 2,590,640 9,360
OMEGH SRAR(SHE)(BSYF:" Al
SOHEI" O M) A 2,600,000,0002 2,600,000 2,590,640 9,360
= 1,690,000 1,683,916 6,084
Al 910,000 906, 724 3,276




SN BHESD
HR: QH4 22(EB/ATEE - AF)
el Sma) (Er9l: &8
SA - FB - 2(3) - MPAY - BAS Ofl koY )= Hlm=2t
03 AIZ= ] 0 9,360 29,360
OMENGH SRIAR(SHE) (HSBF:" AL )
33 02 0 9,360 29,360
= 0 6,084 26,084
Al 0 3,276 73,276
)| QNAAT UAERE S 22l 63,352 82,000 A18,648
201 Zer2et| 63.352 82,000 218,648
01 AFR22/H] 63,352 82,000 18,648
OSFHHAZBIIQIMAAT AAFXIE 0S4
SHEA AXH(IAE) P 63,350,5408 63,352 82,000 £18,648
#E2ABY (23251 Ole/IIEN 2,451,999 2,488,008 236,099
Jl= 3t 126,091 162,190 236,099
o=l 26,091 162,190 236,099
201 Ygr2et| 31,437 34,930 23,493
01 AFR22/H] 31,437 34,930 £3,49%3
OBAEX TY(MIAEY) B 5,184,0008 5, 184 5,760 N5T6
OSI0HNAI(olArE) A7 13,608,0002 13,608 15,120 A1,512
OYBAL2(04EY) 23 1,080,002 1,080 1,200 A120
OATS SHTYBI(0I4E)
A 540,0002 540 600 £60
OARS 248I(HIAE) 9,405 10,450 A1,045
—ZADI(HE) 2 A 1,350,0002 1,350 1,500 A150
—mpIEf 42 AT 25,0002 225 250 725
—= Al B A 1,350,009 1,350 1,500 A150
—IRIE El(S) A3 4,500,002 4,500 5,000 A500
—ZRIE () A3 90,0002 90 1,000 A100
—pC 22| A 540,0008 540 600 £60
—JIE} 421l A 540,008 540 600 260
OJIEF AR RI2I8I(O1ArE)
A 1,620,000 1,620 1,800 A180
202 048 86,920 118,800 £31,880
01 =LHOIH] 86,920 118,800 A31,880
ORHLHOHI (Ol AR L) A3 57,760,002 57,760 86,400 228,640
ORI 0fHI (AR L) A 29, 160,0002 29, 160 32,400 £3,240
203 L] 6.534 7,260 AT26
04 ENEILREY| 6.534 7,260 AT26
ORNSSLPETI (L)
AT 6,534,0002 6,534 7,260 AT
WRES(2A 2SI (2A/4814E - +7) 2,161,440 2,085,480 75,960
R 440,225 364,265 75,960
BRI 440,225 364,265 75,960




M S2ESH
M RBE(HATSI(HY/MAS - 47)
&2l 2dMXE (cHel:&J)
S - B S9(3IH) - ARAY - BES 0] apot plE<El HlRE2
802 Btttz JIEt 440,225 364,265 75,960
01 FNEXZBHEF 344,022 288,962 55,060
20219 & 55,060 0 55,060
— ZdI0IE HM2IXIJA
54,232,980& » 14 54,233 0 54,233
— SYI0IE HMelXIAAZ(0IXH)
797 4203 * 14 798 0 798
— ZdI0IE AEHZAIAIZ (OIA})
2,030& = 14 3 0 3
— MESESEMAXAAS(0IX)
25,0402 * 14] 26 0 26
02 Al - SHIEXZBHEE 96,003 75,103 20,900
@z LSS 20,900 0 20,900
— =di0IE HMelXIJAA
16,269,900 * 14 16,270 0 16,270
— SYI0IE HMelXIAAL (01X
239,220& * 14 240 240
— =diOIE AEHZAAI 23,2202 * 14] 24 24
—MHESESZINE XA (OIXL)
1,303 = 14 2 0 2
—NEEL33HeAIE XA
4,363,630 * 14 4,364 0 4,364




